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? OI (X)dx a7 177 71, Iff(a=x)=f(x) then oj 2 0\,/
ST o
24 aJ“f(x)dx A) 50[ f(x)dx e
f /
Lol ©) 2 f(dx zf o
©) o 15 fz i
72. e 7 n &
%gﬁgﬁia R for & 7530 | 72 Astone;ustdearsawa“dhglgm e'name !
ST TR HQ gu s situated at a distanc® ony e
R & s R, A & oy 2 goes in horizonta ds re
tion |
(A) 30° B)Ras angle of projec o
(B) 60 a5 (A) 30° B) 6
(C) 45° (D) 750 Ao (C) 45° (D) 75 i
9 ef 12
73. W(Z, O)@Wﬁﬁﬁq%%,ﬁgﬁ 73. Let(z,0), whereaobd a+b+ ta, pe
abezasb®asb+1 @ TR 2| is a commutative gr,zuepqual -
- AT a 1 YhA a’ B, da’ FHAA & inverse of a, then aB) by
(A) —a+1 (B) —a—1 (A) —a+1 (
(D) —a+2 e
(©)i5a =2 (D) —a+2 € -a-2 o0
74. Moy +gx+fy=c,h+0uHYa gH | 74 Iftherequation hy+ 9XEHZ R NN
= FH1EHT B forefyd o 2, at aso  represents a pair of straight in€s, 1
b b'ﬁ =
(A) folrgh=0 1(B) M-cg=0l uksa |(A)ffesgn =OTSR(E) I £EIT Hike
(©) gf+ch=0 (D) go+#=0 ([, 1= (0 gfsch=0 (D) ge+F=0
75. Zlﬁy sin(log x), @ fi=fefaa 4w 3'7‘,5 If y = sin(log ), then which of th
i e- - followingis correct? 4\
d’y dy Ko
S M»}m £ (A) G2y =0 -+~
1 __! Y B }) o . D
- ”}B) =0 X5 (B) —a+Y=0 > LI
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_ Xdy
76. AR XY = yx @ - TR

y dx
X logy +y
(&) —=——L Jiogy =y
y logx + x (B) ylogx - x
(©) Y logx +x y logx - x

X logy +y ) X logy -y
77, sin? (X + ly) %1 aredfe w2

(A) % [1 + cos 2x cosh 2y]

(B) % [1 - cos 2x cosh 2y]

(C) % [1 + sin 2x sinh 2y)

(D) % [1 - sin 2x cosh 2y]

78. HH AT ‘a’ Tk T 1 31599 © 31k
O(a) = 30, O(a'8) s 2

(A) 2 (B) 5
() 6 (D) 10

79. Er_f?.' K_aﬂtlé ey 39 YR &
[Al=[B]=5 3 &5 - 4i—3k, @

A.B SRR 3
(A) 5V6 (B) 5v2
- (C) 10v2 (D) 106
¥ I sin~"(xy —2)
5% (x.y')mav tan™'(3xy - 6) MELE
Al 1
(/’\) = B) >
©) 1 (D) 2
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x dy
Y = X ==
If x¥ = yX then  dx is equal to

x logy -
A X logy +y ®) gysy,

y logx + x ylogx—x

logx + x y logx —x

(€ LX) LB X
x logy +y x logy -y

Real part of sin? (x + iy) is

1

(A) 2 [1 + cos 2x cosh 2y]
1

(B) ) [1 — cos 2x cosh 2y]
1

(C) > [1 + sin 2x sinh 2y]

1
(D) > [1 —sin 2x cosh 2y]

Let ‘a’ be an element of a group and
O(a) = 30, O(a'8) is equal to

(A) 2 (B) 5

(C) 6 (D) 10

ILKa_nd B are vectors such that
|A|=|B|=5and AxB =4i -3k, then

A.Bis equal to
(A) 5V6 (B) 5v2
(C) 1042 (D) 106

]
lim _Sin (xy —2)

(-2 tan~(3xy —6) | Sdual to

(&) ®) 1

gl
3 2

() D) 2

—_
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81. mm&wﬁ&

6 1 wefiryg
ﬁ\geG%:ﬂamﬁ;ﬁm ﬁ*m:lg;%l
G:<g>%’%

(A) 2 (B) 3
(C) 4 (D) 5
82. ST e n i =prem e, fores ford
A+)n=(1 =i 212
(A) 2 (B) 4
(C) 6 D) 8
83. Ife @few xi-8j+7kam i-yj-zk

) e O
e g, @ %?ﬁrm%

(A)

Nl N|©

\AF’
P

»

o

/

(B)

-6
© —

(D) 9L & H TS T2

84. A2 a, b, c GHI<L v 1 2 a

x+1 x+2 x+a
X+2 Xx+3 x+b|=FHAEE
X+3 x+4 x+cC

Ao
©) 2

(B) 1
(D) abc

- 85.-ﬂﬁsin(e+i¢)=tana+iseca?ﬁ

€08 26 cosh 20 71 A sT=H 2
(A) 3 B) 2
© 6 (D) 4

0

s’v\ f""
B

2x l%lxj
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81. Let G be a cyclic group o G
Then, the number of elem?®
suchthat G = <g> is
(A) 2 (B) 3
) 4 (D) 5

129e"
82. The smallest value of positivé in

n, for which (1 +i)" = (1 — i)", 15 w2
(A) 2 ®) 4
(C) 6 (D) 8

83. Ifthevectors xi — 3]+ 7k and i-yl ’ZZK
Xy -
are colinear then the value of —~ =
equal to D)
9 o) (&
o 7 5 §51F o SL ;
6 \ =
®) 2 e 2729 )
=5 = o e 9 -
© = . 4
B\l , Y721 Zic
(D) none of the above e Vg s -
2k
84. Ifa, b, are in arithmetic progression 2
¥+1 X+2 X+ 2
then the value of| x +2 %+3 X+D
X+38 X+4 A+C
is : \HA
(A) O (B) 1
C) 2 (D) abc
85. If sin (6 +i0) = tan o. + i sec o then
cos 26 cosh 2¢ is equal to
(A) 3 (B) 2
(C) 6 (D) 4
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%tmémﬁma
(A) 4§ (B) 3@ .1
(©) 231 (D) 185
87. NIE@A:L 2]3;37131}:,111:{%
(A) 6,0 (B) 3,2
(©) 6, 1 (D) 1,2
88. wf%-Awaagwﬁqwra@a},?ﬁ
A. adj(a) 2
(A) T T
(B) @ =
(C) = Hfayy
(D) 3907 7 & %ré e
(xjo X+2 | = dy
89. ;rtf;f? X139 y = o i
2 1
e o
X-2 ik
(©) it (D) m

90. Wﬁi@ax+by+c=0qlaa'qy2=x3ﬁ

W#W%,a‘fﬁnﬁ«r%aﬁﬁqw%?
(A) abc = 1 (B) b2=4ac
(C) a2 = 4bc (D) 2= 4ap
el
v 3 %227,
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Two uniform solid spheres COMpoggy
ofthe same material and having their

radii 6 cm and 3 cm respectively qyq

firmly united the distance of the centrg

of gravity of the whole body from the

centre of the larger sphere is

(A) 4 cms (B) 3cms

(C) 2¢cms (D) 1cm {

The eigen values of the matrix
5 4 17(\)'A o
= re <M\ :
3 [1 2]a (o ~AAAL] 40
(A) 6,0 (B) 3,2 dZ9alat =<
(©) 6, 1 (D) 1,2

IfAis q singular matrix, then A. adj(A)
is T

L ga-arit=
(A) an identity matrix pce

e 9
(B) a null matrix ala-e) L
(C) a scalar matrix Lot :
W
(D) none of the above A LA )
] d
X+2 y
Iff(x)=2*< dy = f-1(x), then Y
(x) i3 andy ,_( ) - 4
isequalto
2 < 1
(A) (x+3)2 (B) =17
X-2 1
© 5z OF vy 7 o

If the line ax_+bu@=,o touches the

Parabola y2 = y thep Which of the
following isc—oﬁ-‘égi\'?
(A) abc = 1 (B) b2 = 4ac MQ
(C) a2 = 4pe (D) 2= 4ap
‘ 0
@r& 3\ g k ',‘\(\‘ " \ 0
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1A 93. TH AEAT IT TR AL a1

TS 3 S AT § i | ) R
‘ Tt 1 forver o it e fomm 2,

Tl I8 FrE

(A) =g

(B) 3rEaTg

(C) 3@EH

(D) I9Tie | & 1S e

1 1 1
li e —
94. M e [n n+1+n+2+ +4n]é5

2T 1 7 2 :
| M
(A) 0 ®1 o942
b <

+(C) log 3 D
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91. In the expansion of X 71 & @\
4 X A\/

term from the end is a4 A\ Vf'\ \

48 = ¢
(A) & EH e : 4\'7

84 72 /
© > ©) 35 %

& . image
92. Statement A : Every isomorPN® il
of a cyclic group is cyclic.
Statement B : Every cyclic
abelian.

Then

(A) Both A and B are true
(B) Both A and B are false
(C) Ais true only

grOUp is

(D) B is true only

93. ; hemisphere rests in equilibrium oN
a sphere of equal radius. If the flat !
surface of the hemisphere rests on the |
sphere then this equilibrium is ‘

(A) Stable
@) Unstable
(C) Neutral

(D) None of the above
¥ 3%
\o°1 \q_ﬁl)

94. The sum of the series

+F [E1xdSH1 1 1
lim | —+—+——+..+—
o |n N+l n+2 4n

_

is equal to CNEE
aa¢ 7&"?0 ® 1
(C) log 3 (D) log 4
A O Y
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95. ’ﬁx2+)’2+22+x+y+z=4 6 s ®
A3 (B) 4

V19
(©) G (D) @
96. ﬁw%%amwﬁanmq;

|:i sechx = sechx tanhx
dx
1

Vx? +1
faffam d da/a a7

(A) Fad | (B) Fa I|

(C) 13 NaE (D) Al AR NI

97. AR V wh n-farfia afew gafe 2 qom v
W T U g SR T yER R T
1 Fife a9 Yan aueR 2, A
(A) nEH 2
(B) nfomm 2
(C) =+t 7 v =heft fomy
(D) 3Wiw | & 1S 7ef

98. ®eH f: R — R, f(x) = sinx;
9:R - R, g(x) = x2, & it B, &t
Bl 1 TS fog(x) B

(B) (sin x)2

(D) x2 sin x

d
I} —sinh'x =
s inh™' x

“(A) sin x + x2

(C) sin x2
99. fe f(x) = ax? + 2bx + 1, a 3 b

EATCHe, AT HEATT € 991 b2 < a,

at fr=ferfiaa & w1 wdt g ?

(A) f(x) =0 V x R

(B) f(x) >0V x eR

(C) f(x) <0 VxeR

(D) 390 H & 1% Tl

PG-06/C 2

PoCo

SHOT 6N POCO M2 PRO

95,

96.

97

98.

99,

GET IT ON

Google Play

The radius of sphere

Xehy2 422 x4y +2z=4is 1
(A) 3 (B) 4

19
(©) _\/‘1;51 (D) —Jz:

Consider the following statements
1: -9 sechx = sechx tanhx

dx - #

d 1
I: —sinh™'x =

dx VX2 +1
which of the following is/are true ?
(A) only | (B) only Il
(C) I'and Il both (D) neither I nor Il

If Vis a n-dimensional vector space
and T is a linear transformation on
Visuch that rank and nullity of_T are
identical then

(A) nis even

(B) nis odd

(C) some times even some times odd
(D) none of the above

The composite mapping fog(x) of the
maps f: R - R, f(x) =sinx;g: R — R,

g(x) = )ﬁ is
(A) sin x + x2 (B) (sin x)?
(C) sin x2 (D) x2 sin x

If f(x) = ax? + 2bx + 1, a and b are
positive real numbers and b? < a, then
which of the following is correct ?

(A) fx) =0V xeR
(B) f(x) >0V xeR
©)fx)<0VxeR
(D) None of the above
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v
. TRV L AP
% /V\ A\ A \ X}\ r;/ '\Ab. -\ﬁ R },}Q
; g el AN
100. SEETe WWT dy 2 R alion
= d 100. ; A 1 ady *
e = (dx] ‘7d\§+12 =0 TZ‘; 820|ut|:: of differential © ol
- - " o
(A) (y = 4x +c) (y‘3X+c)~o (dx) 7d—x+12=0|s éé-(’ hb*,.(,
®) ty+x+0)(y-x4 =g (A) (y-ax+0) (y—ax+0) =" A/‘
iy PR @ i e
(C) (y+4x+c)(Y+3X+c)=0 (B) (V+X+c)(y-x+c)=00 q/& |
© v +2x+0) (y+axseeg (‘;) (Y+4X+c)<y+3x+c))=o
% 2 3x +C) =
10, e o e w209 o, s jane
SR TR VH1 SR EFTS | 101, A sphere after collision with 2 P
Sl 48, ¥ | rically dowrwards with velocty 20 &7
* N ve s ; 3
.éﬂ | 99 Y 7y ?, A T per second returns upwards with vé!
A A 4 cmisecond then the value of 1"
! : coefficient of restitution e is
A) A ’
‘ % @ 3 st 2 |
Bl ool w v
g i3 s © 3 Dyt A T A0
re e,
e T &, 102. If wis cube root of unity, then : \/\/ |
T+W+ W2t wd 4 w2 w2 1 s AW w2 wd et WE, W E TS !
equal to |
O o alk (A) w ®) 1-w . z ‘
i (©) —w? (D) 1+w2 (C) —w? (D) 1 +w2 é
E 103. @Iy =mx + 1 Waed y2 = 4xH gl | 103. Theliney = mx + 1 s a tangent to the
keci| parabola y2 = 4x, if s
, &, Ak = 4x i b
i (A) m=1 By m=2 (A) m=1 B)ym=2 w
| (C) m=—1 (D) m=-2 €) m=—1 (D) m=—2 ,+/V1
{ w
g 3 s 3 — /
R 104, [ A(cos 26)2 cosf do 1 HH 2 104. jf’(cos 26)2 cos d8 is equal to
: 0 _
j 3 T L T \ o —\_‘
£ (A) 2 (B) W A 72 (8) a2 =y
3n 3n 3n 3n
B) (D) = ©) J62 (D) %,
© 162 s e \na®) &

:

‘_ } 25 o k'% -0) i\f w) PG-O(gsl‘('SMM
B Y v @
jg - As Al ©
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B x
A3

) *¥5" B 5\'%)

i 8
(D) |2 10 16
3 12 18

&

ae® +be

106. afg f(x)=
(A) 0 (B) ab
(C) a+b (D) ab(a + b)
107. 3t Heifsrg W, 3787 z 318 qerm sTSefs
aﬁm%%@mmﬁ@aﬂwﬁ?ﬂw%
(A) X°+22=y2  (B) y2+x2=22
(C) 22+y2=x2 (D) xy =22
108. TS AdH uEehi P, Q, R Sfia i
mﬁmqm% %w%%lmﬁ@ta@_
7 fereft oft erraren o 7 Sfiam %1 Wfrehar
® 2
13
(B) 5o
©2
(D). 3T & § 1 AL

@iy

e\
PG-06/C

qt f/(0) e B
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A\'Q ’(Wl 6)
-y A '\aj .

41 4
The sum of |2 7( and |5 ,z
e
will be - .
(A) zero ~1 24 "e’"%)
S8 4 3
®) |7 10 16 (“t €]
10 12 18 f:ﬂﬂ
S 4 a
© |7 5. 8 E»b Y
10 6 9 o & &)
o) 5 49
1—8 14 (2)
(D) (2 10_ 16 P 4 =
Shfogll . &
ae®™ +be®™
Ifif(x)=————— A
(x) TS , then 7(0) equals
(A) 0 (B) ab

(C) a+b (D) ab(a + b)
The equation of a right circular cone
with vertex at the origin the axus the z
axis and sew— is

(A) x2+z2=y2 (B) y2+x2=272
©) 22+y2=x2 (D) xy=22

The probabilities of winning a race by

1

U9
three racers P, Q, R are = 3 4and 5

respectively. The probability of none
of them wins in the race is

]
= \

(A) 5 5 ¥ ‘i*‘?
8!

®) 50 ’\I»
2

(C) 5

(D) None of the above
el an et
/

" m
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W »-\EAVQ = '(}ér‘

109. ewalite 7
l aﬁ)’—ﬂ?ﬁ!x 0w k_\f“i"“*""‘}‘ | o ax
(1 + 62 gy 4 (1 +y?) ex'g W"I 109. Ify = —1 when x = 0 then the 5° A" '/er
9 TR =0 & of the differential equation i e
1) (A) tan-ly 4 tan-t o o wﬂdy+(1 +y2) eXdx = by
3 (B) tan-"xy 4 tan-1 gx _ g (A) té_l[\l'_*- tan-! e =0 \)«“/
¢ =0 =] FREE I el
3 (©) tan-ly 4 tan-1 (xe%< o (B) tan : Xy + ta_niﬁx =0 ; r I
2 (D) ST A 48 Q) gy ianl G2 0
110 S (D) none of the above A9 =
© V= 2o (@, b yrrg ) o
* : . - - ae
3 ) Tefteor @ ST9%s | 110. The differential equation ?f y )
g P : (a and b are parameters) is % &
g (A y— =Y 2,2 ()
= ) [dx2J 4(9) (&) y R[SV L e
3 dx | dx = 4
‘ 2 AU & o
® yIY (Y ?y (dyY c
dx®  \dx ) (B) Y=——%= (—) ¢ >
T dx dx \ %‘F
5 W SIL )44 Jotnes = ;“;‘
©) y(d—) == R ©) y(d_VJ = d8Y; o &
i ® dx) . dx? (\Q\/é\ 2
- 2 = AN & O
dy | _dy ¢y ) _d & 4
D —r | ==Y L | VA EN G 7
= L ol 2 oot & e
1. IR T @y = mx, 70 111. If the straight line y = mx lies outside
X2 +y2— 20y + 90 = 0 % W= @ 2, the circle x2 + y2— 20y + 90 = 0, then
Al m &1 A Gqw 4T the value of rfi will satisfy
v (A) Im| <3 (B) m<3 (A) |m| <8 (B) m<3
(€) m>3 (D) |m|>3 ©) m>3 (D) |m| >3
> §S K> ki 1o
& 12, Ffeeme |1 -1 -2|Rygmrig, @ | 1120 Ifthe nullity of the matrix |1 -1 -2
o L lyned 1al 4
k=TT @ is 1, then the value of k is
a0 (B (A) 0 B) 1
©) 2 (D) -1 ©) 2 (D) -1
‘ 21 PG-06/C
. ‘ 2 - rq/_ v L ~4 4+ | &
s . ab|.oth LA
s r"l\C\—-A-—}A?ﬂ _}Vk,\_)
O PR e W o
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115.

i

113.

wﬁf(2)=4amr(z)=1ﬁ
xf(2) - 21(x)

E»nz X-2 1

(A) 2

®) 0

©) 1

(D) 4

114, 3 O T Ty 3 et e p o

aﬁxmﬁumﬁﬁgowﬁam\%am
Emm%aﬁmﬁmﬁ,
9l PQ 3=t 2

(A) p (B) csecy

(©) ctany (D) c®secy
(1-2x+3x2 4534 % e d
X" T 2

(A) (=1)r+1n

20
® iy
|2n

O T

(D) 39 & & =1s 7
eSinCc1Y) i1 SR fass a2

116.

(A) esinxcoshy [cos(cosx sinhy)]
(B) eSinxcoshy [sin(cosx sinhy)]
(C) ecosxsinhy [cos(cosx sinhy)]

(D) ecosxsinhy [sin(cosx sinhy)]

PG-06/C

PoCod

SHOT 6N POCO M2 PRO

28

113.

114.

115.

116.

GET IT ON

Google Play

)

Iff(2) = 4 and f/(2) = 1 then

lim XH(2) - 2f(x) ;s equal to
xX-2

X2
(A) 2
(B) 0
©) 1
(D) 4

If normal at any point P of a comn
catenary meets the directrix at Q :
p is the radius of curvature of
Catenary at P then PQ is equal to

(A) p
(C) ctany

(B) csecw
(D) c?secy
The coefficient of x" in the expansi
of (1 —2x +3x2 —4x3 &+
(A) (~1)+1n

|2n
B) 1z
([a))

2n

e

et b

(D) None of the above

©)

The real part of eSNCHY) is

(A) esinxcoshy roog(cosx sinhy)]
(B) es"’_"ﬂ [sin(cosx sinhy)]
(C) ecosxsinhy [cos(gosx sinhy)]

(D) e°osxsinhy [sin(cosx sinhy))
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it Ry

AT 2/m 4 27 —

e se
. The angle between the lines VM’

i 3 e 0 ! W 33;‘(1‘1 direction cosineﬁiﬁ.fythe CLlop
T oy I[+m+n=0 “opl —mn =
(A) 45 8 ~xrf=0and 51:&)}/ -
(A) 45° i
(B) 90° (8) 90° o . ~,\\
(C) 120° S b‘V J A"‘ o
§ (C) 120° y \()» £ é
©) ¥y ﬂ@aﬁs‘;—tﬁ (D) none of the above  ~® % ‘A\/hl
P iy fesd ) /
ey U dx T 419 R 118. The value of .[de is equal to
@ 3 Tr @) e
4 (B) o (A) 7 (B) 0 /tf"’1
B &~
© 35 D) 1 C) 25 D) 1 !
32 (D) (©) 32 (D) #}i
119, 3fe T s wureoy R3, R2gx2 | 119. Let T be a linear transformation from
ST (x,y, 2) = (X +vy, y—z) @ gfeiya R3 — R2, defined by T (x, y, z) =
Rl Fﬁm?ﬂﬁm {(1,1, 1), (NE{NO) (X + vy, y — z) then the matrix T with
(0,1, 0 {(1,1), (1, 0 @T‘oﬁfem{s’ respect to the ordered basis {(1, L_1),
N ¢ (1,=1,0), (0, 1,0} and {(1,1), (1, O)} is’
O 20§ :
A 0 -1 1 —oF 0
(A) [2 1 o] (B)[1 » _J (A) L : 0} (B)[1 : j

oF 4 0 2 BN | 0 2
©) |o -1 (D) [-1 1 (C)R[IOR=] (@)=t
L 0 1 4 10

* 120. UH HESF T2, SIS X2 —xy + 22 = 1 120. A unit vector, which is normal to the

3 ‘%%(1,1,1)‘1131‘51@33}[,% surface x? — xy + z2 = 1 at the point
3 (1, 1, D) EH RGN nahe
A) i=i+2k (g i+j-2k kL R
i ©)Fi+j+2k (o) =i=2k (C)-T+] 42k (D) 1=i=2k
V6 L T8 G
(6] 29 (’7‘) lm..p') PG-06/C
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i

12415

122.

123.

124.

125.

GET IT ON
Google Play

Sum of the series
ik A P k. |

TS 5
is equal to

(A) 2e (B) e
©) e-1 O 5

If A and B are two sets such tha.t
n(A) = 4, n(B) = 3 then the maximui
value of n(AnB) is

)

(A) O
C) 4
If the normal to curve y = f(x) at th

ST
point (a, b) makes an angle =T \ith
Caiito=a 4

the positive _x/a’xi_st_hen f'(a) is equal tc

(A) 1 (B) -1
e © 2

A and B throw a dice. The probabili
that A’s throw is greater than B’s thrc
in numbers is

1 5
A) 5 (B) &
5 7
(C) 12 D) 35

Let & and b be two unit vectors a
0 be the angle between them.

121. a\g‘fﬁ1 g
il L 1+2 3 -
I_g+ B +T++\—1421+§3+4+....
ER IR
(A) 2e (B) e
(C) e—1 (D) g
122, IR AT B 3 wye 5w v
N(A) = 4, n(B) = 3 n(ANB) &1 TEaw
e 2
(A) 0 (B) 1
(C) 4 (D) 8
123, Hﬁﬁy:f(x)%ﬁﬁ(a,b)mm
T X 3787 %aﬂwa'—rm%, qtf/(a)
T TR 2
(A) 1 (B) -1
a b
© & ©) 2
124. A 37 B U UiET %hehd 8| B ERT $ebt T8
TEIT Y A G %] TS T o o1fvss e
= Srfrear 2
¥ 5
A 5 B) 5
5 7
©) ®) 35
125. #H fifsw 4 3R b 37s |few 2 sk
S S T FT 0 21 cos O w1 AN
e d s @eam 2
a+b lé—B'
(A) , N , (B) ﬂ
é+5’ a-b
(C) 5 (D) >
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3 7|
of the following will be value of &os |
a+ b' a-b 1
e
@ 2 ® —
a+ 6‘ la - 6‘
(©) ‘ D
2 )
~ NEE 8\
L *3 /L’ e
LS
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